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TO & FROM

THWAITES BROW

Thwaites Brow
Keighley bus station

Keighley bus station stand L
Thwaites Brow

Thwaites Brow
Keighley bus station

Keighley bus station stand L
Thwaites Brow

Thwaites Brow
Keighley bus station

Keighley bus station stand L
Thwaites Brow

0645
0659

0630
0643

0845
0857

0830
0841

1043
1055

1030
1043

0745
0759

0730
0743

0945
0959

0930
0941

0845
0859

0830
0843

1045
1059

1030
1041

43
55

30
43

0945
0959

1045
1059

1145
1159

0930
0943

1030
1043

1130
1143

1145
1159

1245
1259

1345
1359

1130
1141

1230
1241

1330
1341

1743 1843 1943
1755 1853 1953

1730 1830 1930
1743 1841 1941

1245
1259

1230
1243

1445
1459

1430
1441

2043
2053

2030
2041

1345
1359

1330
1343

1545
1559

1530
1541

2143
2153

2130
2141

1445
1459

1430
1443

1645
1659

1630
1641

2248
2258

2235
2246

1545
1559

1530
1543

1745
1757

1730
1741

1645
1659

1630
1643

1845
1856

1830
1841

1745
1759

1730
1743

1950
2000

1938
1949

1845
1855

1830
1841

2050
2100

2038
2049

1950
2000

1938
1949

2150
2200

2138
2149

2050 2150 2250
2100 2200 2300

2038 2138 2238
2049 2149 2249

2250
2300

2238
2249



